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W%, I. Solve +he a-rcl:‘nm/y diffavontial .zguq'éron
Aty -2 Lo 1exge

Jun=o0, Yexy =y
MZ, 2. A Cons.p,yva{:‘v& vector -f:\zlo( s 37\,.2»« loa
- <
T=(Y cur+2’): + (24 S A —4<)f+ (A8 +2) 4

(8> Find +he c\nmspov\o{-‘ng ro‘f.en'él‘ql Function ¢ , ( 7—3= vé).
(b) Zvaluate +he line m{gqu{ jc FedV | where +he path o
mtagration is A= 28 4], Yz4*, g==], o+t <],
2/ 3. The avea wlement and volume elemast 1 Caydasian covydinates
(A, 4,2) ara dA=d% df , dv=dadydz. A transfom of cooyolinates
TS givan foy Az AU, v, W), Y=guv,w), T=2(u, v, w).
(a) Davive +he are /-ehj{-[\ ds rn teymms o ou, dv, ow.
(b) Darive the %pvesston 4wy the area elemact M (U, v, W) covyolinates.
() Davive tha wmpression fvr the Volume welemect in (U, 1,0) cooyolinates,
2/, 4, Denote +he Loplace Transform of $14y as 2 {ftr] = Feay.
) Shw +hat F'eay = L{ -t ],
tb> Shew +hat j: Foords = L4 't_l;fc-t)}

- '
te) 2 '{,o(,o'--n)} =?

o

7«% $.

VP =0, asysh
2 ] ) ?"
Vi~ st Tt ser

$(a.0)=0, ¢cb. 8y =
(a) State whether +he solution 7s /‘np/.ef-ehol-vw'f' of O or not,
(k) Frnd P,
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